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| Semester B.H.M./B.C.A. Examination, November/December 2016
(Freshers and Repeaters) (CBCS)
(2014-15 and Onwards)
LANGUAGE SANSKRIT - | |
Meghadutam, Grammar and Comprehension

Time: 3 HoUrs Max. Marks : 70

Instructions : 1) Answer in Sanskrit/Kannada/English.
2) Question No. I, V and VI should be answered in Sanskit only.

|. G 3 Fga | , (10x1=10)
pfelessrio emgdddgt 502 20T000.
Select the correct answer.

1) Terge foh bk 1o 2 .

W) WEIHRIH, W) AIFH, 3) TEHEEH, ¥) e
2) hiferaree Suf: 1 3i F2 2 '

) it 3T) T 3) ISSIRFT 3) SR
3) HITTaTE: ST AN Tfrg: 2

) €IH: 3) 39 3) W 3) Iolam
’ 4) FoET HaF: F: ?
3) Ta: 3T) 7m: 3) I %) amg:
) SEUTST: : 2
) fowm: ) 3T 3) A é)g§mm
6) B Y ¥ A== 2 st
) THE: M) FE: 7) S: %) fr:
7) TSI AT 2 ,
) wERA@ 3 T 3) age 3) TEEET

8) WIwi: I&: A Tl =k ? _
) WAy o) wfEismy ) wuasmy 3) &Iy

P.T.O.
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9) ftard: gd; {5 safa 2
3) o ) T %) 3™ 3)
10) IRAUHS: <h: ? ‘
) Thea: 31) fermrreh: 3) = %) 91;
11, ;e S for | , (2x10=20)

CBRTRTTR TR BINT VBT, WSO,
Answer any two of the following :

1) w8 ke e art fagu |
QUTRBNOCIRITI CXTBOT ATF DT BRAF TR DB0R

‘ Describe the path upto Alaka as directed by Yaksha.

' 2) wifraTee e, e, i, ;SR T formd | -
TV BREIT, BB, ToO FINT SEOR TR0 wBC0.
Write an essay on the life, date and works of Kalidasa.

3) WEgd foremHET weaml 9 FEd |
BOCHRRSTS WO wdrér{@ag{ REIFRO.

Describe the mountains mentioned in Meghadutam.

* |11, SFETOTE TR, TG Sheal 9E g | ' (3x4=12)
IR TRTTD FBTH BRENTR) L0V DBOR.
Translate and explain any three of the following.

1) gusAId: Hicewed GiHdq: 9 7
Tt F4 WH’F&F&I et |
TGRSR I
HMAT & ThldehIueaHe g ||

2) AWl oY IR dedale T
o H T sy |
TS O S (CRETehT TH A&
EIBIB IR S E-CaibIn R
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3) R Fiveafila gfeerrER:
Sifaferasoeay=y: diemm: |
Tl HRIehy R e T
Terfereazrang o= wepiods T ||

BRI CEiR COREDICAI CED IR AT
qeifesermger 3 ifermme fommay |
eIV geawel Taffon 1 T

| Y QoA o wimeaveie ||

5) AAIHSSIALR TRTHIAHTETE Het
T d AT AT 9 |
JH-STUN et idhel o TR, ||

V. gt TE U |

IR TR TTR TR YT FOTIE A8 DFOR.

Annotate any two of the following.

1) aShIENETSTI e ‘c:asf |

2) st ot waifey forg: o gefeaen=a: |
3) = A wwifd fafer & =@ |
4) I HET THTAD TTIHASEHH: |
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(2x4=8)
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V. TR 3T fowd |

- RoRyBEY YuZoR.
Answer in Sanskrit.
" g) vt forsfawfageem fored | ~ (5x1=5)
1) ST 2) d&: :
3) AN . 4) T
5) wa<H 6) =
7) Q&R gy
b) TATT AHRIETS=AI fofad | ~ (5%1=5)
1) = | 2) Tl |
~ 3) atfea 4) gwad
5) STHAUG 6) I
7) Gfew=a 8) Taq
T iR Ui ST ST e | (5x2=10)

VL.

e, 2w, 3R, sagfivey, anfae, diell, e , Sefie: 9y Heih: S
ST 7 WRASTY shigei | fifoTfiiieg, ufeng senf wiifarg Se e shierma
T JRTEAT SHAT = SRThshiet Weared, Aftrh Fefd | o wed
‘TehTeTE: HieamE aatiend: qwEmEm s foere gt e e
e Maraea e sgwm FaeEfd | 39 3aU: shien: UvETd Tai<t Suierr:
faraf= =1 | Tordhe o srrierly foremery = STered sl TFaerd | SATeRiT Hidel
BT 37 el Sy tfrgay <91y foeehe shiet = shiesid i g g
T, | Fefesl TR o Mgd: T shier: S w9 |

AT . ’

1) Tarcsfran shier: : 2

2) T ISRIHHISHT THEH Fdd*?

3) Tehehe, shel FoITerT 2

4) Terehe Toh Faemila ?

5) T-AISed T TR ?




